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chapter five

the U.S. economy: Private and public sectorS

CHAPTER OVERVIEW

This chapter provides descriptive details about both the private sector (households and businesses) and the public sector (government) in our market economy.  The goal is to understand households, businesses, and governmental units as the primary decision makers in our economy.  The circular flow diagram has been expanded to show how the public sector interacts with two parts of the private sector.

WHAT’S NEW

The new chapter title is in keeping with the focus of previous chapter.  The term “mixed market system” is no longer used.  The introductions to many of the sections and subsection have been made more concise.  The material on components of personal consumption is presented as a pie chart rather than a table.  The section on the business population has been reorganized and the terminology “horizontal, vertical, conglomerate combinations” has been changed to “horizontally and vertically organized firms” and “conglomerates.” The three types of business organizations are defined prior to the discussion of the advantages and disadvantages of each.  The advantages and disadvantages are presented in narrative form rather than in numeric lists.  The discussion on business “Hybrid Structures” and “The Principle-Agent Problem” are presented as separate subsections.  The circular flow diagram, Figure 5-6, that adds the governmental sector, has been revised for clarification.  There is a new Figure 5-7 that compares government purchases of goods and services and transfer payments in 1960 as a percentage of the 1960 GDP and government purchases and transfer payments in 2000 as a percentage of 2000 GDP.  

The second Web-Based Question has been changed.

INSTRUCTIONAL OBJECTIVES

After completing this chapter, students should be able to:

1.     Define, explain, and give relative importance of the five shares in the functional distribution of income and explain what is included in the fifth share – proprietors’ income.

2.     Define and explain the personal distribution of income, and state the relative shares going to the top 20 percent compared to the bottom 20 percent (or one‑fifth).

3.     State the three major categories of household spending or income disposition and relative shares of each.

4.     Explain the terms durable goods, nondurable goods, and services.

5.     Explain the difference between a plant, a firm, and an industry.

6.     State the advantages and disadvantages of the three legal forms of business in comparative terms, including the hybrid structures.

7.     Describe the principal-agent problem.

8.     Explain how the government promotes competition.

9.     Explain how government alters the income distribution.

10.     Define and explain the effects of spillover benefits and spillover costs.

11.     Describe how the government can correct the effects of spillover costs and benefits.

12.     Explain what is meant by a “public good” and why government must provide these goods and services.

13.     Explain the methods government can use to reduce unemployment and inflation.

14.     Understand the circular flow model with the addition of the government sector.

15.     Differentiate between government purchases and transfer payments and the relative and absolute importance of each over time.

16.     Identify the major categories of federal spending and the major sources of federal revenue.

17.     Differentiate between marginal and average tax rates.

18.     Identify the major categories of spending for state and local governments and the major sources of revenue for each.

19.     Define and identify terms and concepts listed at the end of the chapter.

COMMENTS AND TEACHING SUGGESTIONS

1.     Because the numbers change from year to year, students should not be expected to learn exact figures.  However, it is reasonable to expect students to recall “ballpark” figures, especially for relative shares of income distribution, household spending, the corporate share of total output in the private sector, and relative importance of public sector output in GDP.  In making the distinction between functional income distribution and personal income distribution, you can make the distinction between national income and personal income.  National income is earned market income from the four factors of production.  Personal income includes transfer payments such as social security, unemployment benefits and cash welfare grants.  Personal taxes have not been deducted.  Specify clearly the students’ responsibility for the statistical knowledge that you expect from this chapter, or they may become overwhelmed by the data and not remember the meaningful relationships.  Emphasize that the figures being presented in the discussion of personal income are examples of positive economics, and that the students’ individual views on income distribution and equity are examples of normative economics.  If Chapter 34, “Income Inequality and Poverty,” is not going to be included in the semester, the section on “Trends in Income Inequality” and “Causes of Growth Inequality” could be covered when discussing the personal distribution of income in this chapter.

2.     In comparing the legal forms of business, a matrix or grid diagram helps students to compare advantages and disadvantages of each form at a glance.  Have students interview a local business owner to find out what kinds of government regulation applies to their business.  How much does it cost them? How much time is spent in compliance activity?

3.     While most students will have a basic knowledge of the corporate form, it is a very new concept to those who do not.  The nature of the corporation as a legal entity and the concept of limited liability should be stressed.  Limited liability companies are becoming more prevalent and this category should not be left to a footnote.  It is also useful in today’s global economy to point out that the symbols Ltd.  and S.A.  are the abbreviations for words that mean incorporated in the United Kingdom and Latin America, respectively.

4.     Information in many of the tables in this chapter can be updated with current editions of Economic Indicators or Economic Report of the President or Survey of Current Business.
5.     The degree of government involvement in the economy is a controversial topic in most of the areas discussed in this chapter.  Good debates can center on questions related to government’s role in protecting the environment, the social security program, welfare programs, health care, and tax policy, among others.

6.     A game can be played with the budget of any level of government, ranging from the local school district’s budget to the federal budget.  Provide students with the figures (or have students research them) for current spending in each of the major budget categories.  Then have students play the role of decision makers who are to cut 10 percent out of this budget.  Where would they cut?  Have them justify their answers on the basis of a decision-making grid, where they list the possible alternatives vs. the criteria for making the decision.

Another version of this game gives the decision-makers an extra amount of dollars to spend, and they have to decide which category gets top priority for spending that amount.  Before the discussion, group students according to their choices.  For example, all wanting to spend more on defense would be in one group.  Then, representative members of each group can discuss the reasons for their choice for the rest of the class.

    7.  Make up four or five different scenarios that include households with different number of members, different incomes, and different deductions.  Have the students calculate the average tax rate based upon the household’s adjusted gross income using the Federal 1040 tax form.  By working through the tax form, the students will understand the difference between a tax deduction and a tax credit and will be able to better evaluate proposed changes in the Federal tax system.

STUDENT STUMBLING BLOCKS

1.     Terminology can cause confusion among students in separating public and private sectors.  For example, corporations are often referred to as public corporations to reflect the fact that stock is offered to the public.  Some “public” utilities are publicly owned while others are privately held.  It may be even more confusing to address these points at the introductory level, but keep in mind that these contradictions in terms do mislead some students.

2.     One stumbling block originates from misinformation students learn before they arrive in class.  Students have difficulty differentiating between marginal and average tax rates.  They tend to believe that people in the 28 percent tax brackets are paying 28 percent of their incomes in taxes.  Although the chapter does a good job of highlighting the difference between the marginal and average rates, it bears emphasis.  Students may already believe that people are taxed too much, without the added misconception of what the top tax bracket rates mean.

3.     The Last Word on corporate finance covers some important definitions.  It also explains the inverse relationship between bond prices and interest rates which will be used later in discussing monetary policy.  One way to help students understand this is to use an actual bond, or replica of a bond, with its par value and stated interest rate on it.  Then you can ask what price would be offered for that bond if interest rates rose above or fell below the rate paid by that bond.

LECTURE NOTES

I.
Goals of Chapter

A.
To acquire basic factual information about the household and business components of the private sector economy.

B.
To acquire basic factual information about the public (or government) sector in the U.S. economy.

C.
To understand the role of the public sector in the U.S. economy.

II.
Households as Income Receivers

A.
Functional distribution of income is shown in Figure 5‑1.  (This figure is based on NI—National Income.)

1.
Wages and salaries are 70 percent of total.

2.
Proprietors’ income (income to self‑employed business owners, doctors, lawyers, etc.) is under 10 percent of total.  (This is a combination of wage and profit income.)

3.
Capitalist income—corporation profits, rent, interest—is less than one-fifth of total.  (Note: rent may be negative because of the depreciation charged against rental income.)

B.
Personal distribution of income is shown in Figure 5‑2.  (This figure is based on PI—Personal Income.)

1.
It is often described by dividing the population into quintiles or five numerically equal parts.

2.
Proportions of total income going to each quintile are then compared.

3.
Comparison shows unequal distribution of income.  For example, see how many times greater the share of income going to the top quintile is relative to the bottom fifth.  (Key Question 2)

III.
Households As Spenders (Figure 5-3) (Figure is based on PI—Personal Income)

A.
Use Figure 5.3 or most recent data from Survey of Current Business, January issue of current year, to describe the following.

B.
How do households dispose of their income?

1.
Personal taxes, of which Federal personal income tax is the major component, has increased over the years.

2.
Saving (dissaving if spending exceeds income) is the smallest fraction of personal income disposition.

3.
Most of household income goes to consumer spending (Figure 5.3).  There are several categories of spending categories (Figure 5.4):

a.
Durable goods are those with life of three or more years.

b.
Nondurable goods include things such as food and clothing.

c.
Services are today more than one‑half of all consumer spending, which demonstrates that ours is a service-oriented economy.

IV.
The Business Population

A.
Related definitions:

1.
Plant:  physical establishment where production or distribution takes place (factory, farm, store).

2.
Firm:  business organization that owns and operates the plants.  (The legal entity.)

3.
Industry: a group of related firms, producing the same or similar products.

a.
Examples include the automobile industry or the tobacco industry.

b.
Confusion often occurs because many businesses are multiproduct firms.


      4.   Types of multiplant firms:

a.
Horizontal integrated: a multiplant firm with plants in the same stage, like a retail chain store such as J. C. Penney or Safeway.

b.
Vertical integrated: a multiplant firm in which the company owns plants at different production stages.  Example:  A steel company may own ore and coal mines as well as different plants in different stages of the manufacturing process.

c.
Conglomerate: a firm that owns plants in different industries or markets.

B.
Legal forms of businesses  (Figure 5.5):


1.
Definition:




a.
Sole proprietorship: a business owned by a single individual.


b.
Partnership: two or more individuals own and operate the business in a partnership agreement.


c.
Corporation: a legal entity distinct from its individual owners.  The organization acts as “legal person.”



2.
Discussion of Figure 5-5 relative to most important – percentage of firms versus percentage of sales.



3.
Sole proprietorship




a.
Advantages: easy to set up; proprietor is his/her own boss; because profit is proprietor’s income, there is an incentive to operate the business efficiently.




b.
Disadvantages: financial resources are limited and insufficient; the proprietor is responsible for all of management functions; the proprietor is subject to unlimited liability.



4.
Partnership




a.
Advantages: easy to organize; greater specialization; better access to financial resources than proprietorships.




b.
Disadvantages: some of the same shortcomings of the proprietorship; possible difficulties in sharing management responsibilities; still limited financial resources; problems if one of the partners leaves; still unlimited liabilities.



5.
Corporations




a.
Advantages: improved ability to raise financial capital (money); defining and comparing stocks and bonds; limited liabilities; corporations have a permanence that is conducive to long-run planning and growth.




b.
Disadvantages: red tape and expense in obtaining a corporate charter; unscrupulous business owners sometimes avoid responsibility for questionable business activities.



6.
Hybrid structures



7.
Principle-agent problem

V.
The Public Sector: Government’s Role

A.
Providing the legal structure:

1.
Government ensures property rights, provides enforcement of contracts, acts as a referee and imposes penalties for foul play.

2.
Government intervention improves the allocation of resources by supplying a medium of exchange, ensuring product quality, defining ownership rights, and enforcing contracts.

3.
These interventions widen the market and foster greater specialization in the use of property and human resources.

4.
The appropriate amount of regulation is at the level where the marginal benefit and marginal cost are equal.

B.
 Maintain competition:

1.
Competition is the market mechanism that encourages producers and resource suppliers to respond to consumer sovereignty.

2.
If producers (and/or resource suppliers) have monopoly power, the monopolist can charge higher-than-competitive prices and supplant consumer sovereignty with producer sovereignty (or economic rent).

3.
If “natural monopoly” exists, government regulates price and service.  (Natural monopoly exists when technology or economic realities make a monopoly more efficient than competition.)

3.
Where competitive markets are more efficient, anti‑monopoly laws (Sherman Act of 1890; Clayton Act of 1913) are designed to regulate business behavior and promote competition.

C.
Redistribution of income:

1.
Transfer payments provide relief to the poor, dependent, handicapped, and unemployment compensation to those unemployed who qualify for benefits.  Social Security and Medicare programs support the sick and aged.

2.
Government intervenes in markets by modifying prices.  Price support programs for farmers; minimum wage laws are examples.

3.
Taxation takes a larger proportion of incomes of the rich than the poor.

D.
Reallocation of resources:

1.
Market failure occurs when the competitive market system produces the “wrong” amounts of certain goods or services or fails to provide any at all.

2.
Spillovers and externalities


a.
Spillovers or externalities occur when some of the benefits or costs of production are not fully reflected in market demand or supply schedules.  Some of the benefits or costs of a good may “spill over” to third parties.


b.
An example of a spillover cost is pollution, which allows polluters to enjoy lower production costs because the firm is passing along the cost of pollution damage or cleanup to society.  Because the firm does not bear the entire cost, it will overallocate resources.


c.
Correcting for spillover costs requires that government get producers to internalize these costs.


1.
Legislation can limit or prohibit pollution, which means the producer must bear costs of antipollution effort.


2.
Specific taxes on the amounts of pollution can be assessed, which causes the firm to cut back on pollution as well as provide funds for government cleanup.


d.
Spillover benefits occur when direct consumption by some individuals impacts third parties.  Public health vaccinations and education are two examples.  Because some of the benefits accrue to others, individuals will demand too little for themselves and resources will be underallocated by the market.

e.
Correcting for spillover benefits requires that the government somehow increase demand to increase benefits to socially desirable amounts.


1.
Government can increase demand by providing subsidies like food stamps and education grants to subsidize consumers.


2.
Government can finance production of good or service such as public education or public health.


3.
Government can increase supply by subsidizing production, such as higher education, immunization programs, or public hospitals.


2.
Government provides public goods and quasi-public goods and services.


a.
Private goods are produced through the market because they are divisible and come in units small enough to be afforded by individual buyers.  Private goods are subject to the exclusion principle, the idea that those unable and unwilling to pay are excluded from the benefits of the product.


b.
Public or social goods would not be produced through the market, because they are indivisible and are not subject to the exclusion principle.


1.
A lighthouse is a good example of a public good.  The light is there for all to see whether or not they paid for it.  Those who receive benefits without paying are part of the so‑called free‑rider problem.


2.
Other examples include national defense, flood‑control, public health.


c.
Producers would not be able to find enough paying buyers for “public goods” because of the free‑rider problem mentioned above.  Therefore, “public goods” are not produced voluntarily through the market but must be provided by the public sector and financed by compulsory taxes.


d.
Quasi‑public goods are those that have large spillover benefits, so government will sponsor their provision.  Otherwise, they would be underproduced.  Medical care, education, and public housing are examples.


e.
Resources are reallocated from private to public use by levying taxes on households and businesses, thus reducing their purchasing power and using the proceeds to purchase public and quasi‑public goods.  This can bring about a significant change in the composition of the economy’s total output.

E.
Promoting stability:

1.
An economy’s level of output is dependent on its level of total spending relative to its productive capacity.

2.
The government may promote macroeconomic stability through changes in government spending and taxation.

a.   When total spending is too low, the government may increase its spending and/or lower taxes to reduce unemployment.

b.   When total spending is excessive, the government may cut its spending and/or raise taxes to foster price stability.

VI.
Circular Flow Revisited

A.
Figure 5.6 shows the circular flow model with the addition of the government sector.

B.
There are several modifications to the Chapter 2 model.

1.
Flows (5) through (8) illustrate that government makes purchases and expenditures in both the product and resource markets.

2.
Flows (9) and (10) illustrate that the government provides public good and services to households and businesses.

3.
Flows (11) and (12) illustrate that government receives taxes from and distributes subsidies to households and businesses.

C.   These flows suggest ways that the government might alter the distribution of income, reallocate resources, and change the level of economic activity.

VII.
Government Finance

A.
Government expenditures on goods and services and transfer payments.

1.
Government purchases directly use or employ resources to produce goods or services measured in domestic output.

2.
Government transfer payments are not directly part of domestic output, but include payments like social security, unemployment compensation, welfare payments.

B.
Changes in government purchases of goods and services, expenditures on transfer payments, and total spending as percentages of U.S. output, 1960 and 2000 (Figure 5.7).

C.
Major growth in government spending since the 1960s has been in transfer payment area.

VIII.
Federal Finance (see Figure 5.8)

A.
Expenditures emphasize four important areas.

1.
Income security,

2.
National defense, 

3.
Health, and 

4.
Interest on national debt.

B.
Receipts come from several sources.

1.
Personal income tax is a major source.

a.
The Federal personal income tax is progressive.  People with higher incomes pay a higher percentage of that income as tax than do people with lower incomes.

b.
A marginal tax rate is the rate at which the tax is paid on each additional unit of taxable income (Table 5.1).

c.
The average tax rate is the total tax paid divided by total taxable income.

d.
A tax whose average tax rises as income increases is progressive.

2.
Payroll taxes, such as social security contributions, are a close second as source of revenue.

3.
Corporate income taxes on corporation profits are the third largest source of revenue.

4.
Excise taxes are similar to sales taxes on specific commodities, like alcoholic beverages, tobacco, and gasoline.  They are levied at the wholesale level, so are hidden from the consumer.

C.
Global Perspective 5-2 shows that Australia, the United States, and Japan enjoy relatively low tax burdens.

IX.
State and Local Finance

A.
State expenditures and receipts for all states in 1998 are illustrated in Figure 5.9.

1.
State revenues primarily come from sales taxes and secondly from personal income taxes.

2.
State spending goes for public welfare, education, highways, and health care.

B.
Local expenditures and receipts for all local governmental units in 1996 are shown in Figure 5.10.

1.
Revenue is primarily from property taxes.

2.
Spending is primarily on education.

3.
Gap between local tax revenues and spending is largely filled by grants from state and Federal government.  (This system of intergovernmental transfers is called fiscal federalism.)

X.
LAST WORD:  The Financing of Corporate Activity

A.
A major advantage of corporate form of organization is the ability to finance operations through sale of stock and bonds.  This Last Word examines corporate finance in more detail.

B.
There are three ways to finance corporate activity:

1.
Internally out of undistributed profits,

2.
Borrowing from financial institutions, and

3.
Issuing stocks and/or bonds.

a.
Common stock is a share of ownership in the corporation and gives the holder a voting right and share of dividends.

b.
A bond is an IOU whereby the corporation promises to pay the holder a fixed amount in the future plus annual interest.

C.
Differences between stocks and bonds:

1.
Bondholder is not an owner, only a lender.

2.
Bonds are less risky usually because of certain factors.

a.
Bondholders can claim interest payments before stockholder dividends are calculated.

b.
Interest is guaranteed as long as company is healthy, whereas dividends depend on profits.

3.
Risks involved with bonds include:

a.
Capital risk, which means that the market price of a bond can change if market interest rates change and a holder needs to sell a bond before its maturity date.  Note that the market price of a bond varies inversely with market interest rates.

b.
Risk of unexpected inflation means that the purchasing power of the bond will fall because its interest rate is less than the inflation rate.

ANSWERS TO END-OF-CHAPTER QUESTIONS

5‑1
Distinguish between the functional and personal distribution of income.


The functional distribution of income shows the sources of income, i.e., as payments to the four factors of production: labor, entrepreneurs, physical capital, and land (natural resources).  The breakdown is: wages and salaries, proprietors’ income, corporate profits, interest, and rents.  There are five categories whereas there are only four factors of production, because proprietors’ income includes profits as well as wages, interest, and rents.


The personal distribution of income shows how income, regardless of its source, is divided by quintiles among all the families in the country.  Whereas the worst-off 20 percent of families, the lowest quintile, gets most of its income from wages and transfer payments, the best-off 20 percent gets considerable income from profits, interest, and rent.

5-2
(Key Question)  Assume that the five residents of Econoville receive incomes of $50, $75, $125, $250, and $500.  Present the resulting personal distribution of income as a graph similar to Figure 5-2.  Compare the incomes of the lowest and highest fifth of the income receivers.


The distribution of income is quite unequal.  The highest 20 percent of the residents receive 10 times more income than the lowest 20 percent.
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5‑3
Distinguish clearly between a plant, a firm, and an industry.  Contrast a vertically integrated firm, a horizontally integrated firm, and a conglomerate.


A plant is an operating unit where production takes place.  This production can be manufacturing, farming, mining, retailing, wholesaling, warehousing—anything, in short, necessary for the production and distribution of goods and services.


A firm is the business organization that owns one or more plants.  A firm can be very large, such as General Motors, which owns many plants in many countries, or very small, such as an independent corner grocery.


An industry is a somewhat arbitrary grouping of firms producing similar products—such as the steel industry.  There may be a problem defining which firms belong to an industry; the firms in the automobile industry produce many non-automotive products. 


A vertically integrated firm contains plants that are involved in various stages of the production process.  A horizontally integrated firm contains plants that are involved in the same function of business.  A conglomerate firm has plants that are producing products in several industries.

5‑4
(Key Question)  What are the major legal forms of business organization? Briefly state the advantages and disadvantages of each.  How do you account for the dominant role of corporations in the U.S. economy?


The legal forms of business organizations are: sole proprietorship, partnership, and corporation.


Proprietorship advantages:  easy to start and provides maximum freedom for the proprietor to do what she/he thinks best.  Proprietorship disadvantages:  limited financial resources; the owner must be a Jack-or-Jill-of-all-trades; unlimited liability.


Partnership advantages:  easy to organize; greater specialization of management; and greater financial resources.  Disadvantages:  financial resources are still limited; unlimited liability; possibility of disagreement among the partners; and precarious continuity.


Corporation advantages:  can raise large amounts of money by issuing stocks and bonds; limited liability; continuity.


Corporation disadvantages:  red tape and expense in incorporating; potential for abuse of stockholder and bondholder funds; double taxation of profits; separation of ownership and control.


The dominant role of corporations stems from the advantages cited, particularly unlimited liability and the ability to raise money.

5-5
“The legal form an enterprise assumes is dictated primarily by the financial requirements of its particular line of production.”  Do you agree? 


It is possible to agree with this statement in part.  Where financial requirements are large, the corporate form is advantageous because financial capital can be raised by issuing stocks and bonds.   The new bondholder or stockholders know that the corporation has an unlimited life and that their shares or bonds are transferable.  It is difficult to raise large amounts of financial capital for sole proprietorships because financial institutions usually have a limited amount of funds available to loan to any single borrower; it is not possible to sell shares or issue bonds; individuals fear loaning large amounts of money to any single owner.  Even if the owner could borrow large amounts of financial capital, it still might not be done because of the unlimited liability that puts all of the owner’s assets at risk.  Partnerships might be better able to raise capital than are sole proprietorships, but they have similar difficulties and their only advantage would be that there is more than one owner with ability to invest.  In other words, there is truth in the statement when the financial requirements are large as opposed to small.


Other factors may play a role in the decision about the legal form of business organization, but it does seem that the financial requirements will be a primary determinant.

5-6
Enumerate and briefly discuss the main economic functions of government.  Which of these functions do you think is the most controversial?  Why?


One role is to provide the legal and social framework.  This goes beyond the elementary policing of keeping people from assaulting and stealing from each other.  Government attempts to regulate business in terms of setting standards and rules.  Some examples include establishing rules regarding contract negotiations and enforcement; setting standards on safety of food, drugs and other products; educating the public about respect for private property; devising zoning laws, etc.


A second function is to promote and maintain competition.  Government does this through antitrust laws to make anti-competitive behavior illegal, and by regulating monopoly power in the case of “natural monopolies,” where competition is not efficient, as is the case with many public utilities.


Third, the government redistributes income to help alleviate poverty.  This is done by progressive taxation of income, which taxes low incomes proportionately less than high incomes, and by transfer payment programs such as unemployment compensation, social security benefits and Medicare, food stamps, aid to low-income families with dependent children, and other programs that provide support for the poor.


A fourth role is the reallocation of resources.  This includes the provision of public or social goods, such as education, lighthouses, streetlights, and national defense.  It also includes government programs that correct misallocation of resources, which may occur when there are spillover costs or benefits.  When spillover costs occur, resource allocation would be more than is socially desirable, because some of the production costs have been passed on to third parties.  The government designs programs to force producers to internalize these costs by regulation or specific taxes, so that the spillover costs are reduced or eliminated.  In the case of spillover benefits, too few resources are allocated, because there are social gains to be gotten from production of some products, like education, but without government intervention, only those who reap direct benefits may pay.  These purchasers would see no reason to support more of the product on an individual basis, so the government intervenes through subsidies or public production.


Stabilization is the fifth government role.  The Federal government, through fiscal policy (taxation and government spending) attempts to prevent inflation and unemployment.  The government’s role is to attempt to dampen or stabilize the effect of business cycles.

5-7
What divergences arise between equilibrium and an efficient output when (a) spillover costs and (b) spillover benefits are present?  How might government correct for these divergences?  “The presence of spillover costs suggests under-allocation of resources to that product and the need for government subsides.”  Do you agree?  Explain how zoning and seat belt laws might be used to deal with a problem of spillover costs.

(a)
When spillover costs are present, the equilibrium output will be greater than the efficient output.  This is because the producer, who is not bearing the full cost of production, will be able to produce more at a lower price than the efficient level, which would exist if true costs were reflected in the production decision.

(b)
When spillover benefits are present, the equilibrium output will be smaller than the efficient output because the consumer is willing to pay a price equal to the consumer’s individual marginal benefit, but no more.  Since social benefits exist in addition to the private benefit, the government must either aid the producer to encourage more output or engage in its own production of the item with the spillover benefits.


Government might correct spillover costs through regulation, which requires firms to internalize these spillover costs, or it might tax the spillover until it becomes too expensive for the firm to incur these costs.  This effectively shifts the supply curve to the left as costs of production rise, and the new equilibrium output will be less and closer to the efficient level.  Spillover benefits can be encouraged by government subsidies to the producers of these products or by government production.  In either case, the supply curve shifts to the right which lowers the equilibrium price and leads to a greater equilibrium output level.


The quote is incorrect.  Spillover “costs” should be changed to spillover “benefits” to make this a true statement.  Zoning could force businesses producing spillover costs to locate in regions where these costs would not spill over onto third parties, or where such costs would at least be reduced.  Seat belt laws reduce injury and death from accidents, which, in turn, reduce the cost of public rescue units, hospital care, etc.  Such laws should also reduce premiums for accident insurance, which benefits all of the insured.

5-8
Researchers have concluded that injuries caused by firearms cost about $500 million a year in hospital expenses alone.  Because the majority of those shot are poor and without insurance, almost 85 percent of hospital costs must be borne by taxpayers.  Use your understanding of externalities to recommend appropriate policies.


Taxpayers in general are bearing most of the $500 million cost of injuries caused by firearms.  This is an example of spillover cost.  The injured person is bearing part of the cost in terms of lost work time and, of course, the injury itself, but much of the cost of treating the injury is paid by taxpayers.  Several solutions come to mind in terms of correcting this misallocation of resources.


One solution would be to impose a tax or license fee on firearms to pay for the cost of injuries caused by guns.  Then only firearms manufacturers and purchasers would bear the cost of injuries caused by these weapons.  Of course, this would place a burden on responsible gun owners who do not cause injury as well as those who do, but the cost would not be borne by non-owners, who seem to be totally innocent parties here.


Other solutions to reduce the external cost would include forcing the poor to carry injury insurance and/or forcing the perpetrators to pay the cost of injuries they cause.  If any evidence exists on ways to prevent such injuries, it would be better to subsidize the cost of these methods of prevention and provide the external benefits of a safer, healthier society.  This could include subsidizing safety education programs, recreation programs to keep would-be criminals off the street, and other ideas that might cut down on injuries.  The present method does not prevent injury or violent crime.  Whether or not these solutions are politically feasible may be more of a problem than their economic feasibility.

5-9
(Key Question)  What are the basic characteristics of public goods?  Explain the significance of the exclusion principle.  By what means does government provide public goods?


Public goods are indivisible (they are produced in such large units they cannot be sold to individuals) and the exclusion principle does not apply to them (once the goods are produced nobody—including free riders—can be excluded from the goods’ benefits).  The free-rider problem explains the significance of the exclusion principle.  The exclusion principle separates goods and services that private firms will supply because those who do not pay for them can be excluded from their benefits and goods and services which government must supply (because people can obtain the benefits without paying).  Government must levy taxes to get revenues to pay for public goods.
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(Key Question)  Draw a production possibilities curve with public goods on the vertical axis and private goods on the horizontal axis. Assuming the economy is initially operating on the curve, indicate the means by which the production of public goods might be increased. How might output of public goods be increased if the economy is initially functioning at a point inside the curve?


On the curve, the only way to obtain more public goods is to reduce the production of private goods (from C to B).


An economy operating inside the curve can expand the production of public goods without sacrificing private goods (say, from A to B) by making use of unemployed resources.
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Use your understanding of the characteristics of private and public goods to determine whether the following should be produced through the market system or provided by government:  (a) bread;  (b) street lighting; (c) bridges; (d) parks; (e) swimming pools; (f) medical care; (g) mail delivery; (h) housing; (i) air traffic control; (j) libraries.

(a)
bread—market system

(b)
street lighting—government

(c)
bridges—government (although one could answer quasi-government, as toll bridges exist)

(d)
parks—government (although user fees could make them quasi-public goods)

(e)
swimming pools—combination of market system pools (with fees for members or users) government provided or subsidized pools (for neighborhoods where funding is not be feasible)

(f)
medical care—combined market and government; the mix of private and public production is a controversial topic addressed in the chapter on the economics of health care

(g)
mail delivery—government, as long as the law gives postal service a monopoly

(h)
housing—market system

(i)
air traffic control—government

(j)
libraries—government 
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Explain how government might manipulate its expenditures and tax revenues to reduce (a) unemployment and (b) the rate of inflation.

(a)
To reduce unemployment, government must increase total or aggregate spending in the economy to encourage more production and employment.  It can do so by increasing its own spending on goods and services and, by reducing taxes, inducing the population to spend more.  Reduced taxes on businesses might also have a supply-side effect, allowing businesses to produce more as a result of the lower tax cost burden.  Monetary authorities should be encouraged to increase the supply of money and credit available.

(b)
To reduce the rate of inflation, government should reduce aggregate spending for goods and services in the economy.  It can do so by decreasing its own spending and/or by increasing taxes, which would induce consumers to spend less.  It could also encourage the monetary authorities to reduce the supply of money and credit.
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“Most governmental actions simultaneously affect the distribution of income, the allocation of resources, and the levels of unemployment and prices.” Use the circular flow model to confirm this assertion for each of the following:  

a.
The construction of a new high school in Blackhawk county.


In building the school, the effect would be an increase in government expenditures to the product market (5) and an increase in business revenues (3).  The owners of the resources used to building the school will have an increase income (1).  Resources will be diverted away from the private sector (5 and 6). To pay for the high school, taxes may have to be increased (11 and 12). If the economy is experiencing unemployment, the increase in government spending (5) may increase total output and employment.

b.
A 2 percent reduction in the Federal corporate income tax.


Business taxes will be reduced (11).  Business owners will receive a larger percent of the money income (1).  If businesses use the increased profits to buy capital goods, labor and the owners of the other resources could benefit.  If the reduction in the corporate income taxes results in a decrease in government spending (5) and an increase in corporate spending (1), there would be a reallocation of resources.  If the economy is experiencing unemployment and government spending does not decrease, there could be an increase in spending if businesses increase their spending on capital goods (1).

c.
An expansion of preschool programs for disadvantaged children.


This is shown as an increase in goods and services from government to households (9) or as a decrease in net taxes, which is equivalent to an increase in transfer payments (12).  In either case, this is a redistribution of income or services in favor of the less well off.  As additional teachers are hired and paid, there will be an increase in resources paid by the government (7).


There will be some reallocation of resources from private enterprise to government and some decrease in unemployment, unless the economy is already at full employment.  In this case, there will some upward pressure on prices since, to the extent the program is a transfer payment, there will be no increase in production.

d.
 $50 million increase in spending for space research.


If this increased government spending were channeled entirely to outside contractors, the effects would be an increase in government expenditures to the product market (5) and an increase in business revenues (3).  To the extent that some (or most) of the spending is “in‑house,” the government expenditures will be directed to the resource markets (7 and 8).  In both cases, income going to households will increase (1), which will then increase their consumption (3), and an increase in the goods and services flowing from businesses (4).  


If government increases net taxes (11) and (12) to pay for increased spending, there will be a reallocation of some resources from private business and household products to government products.


The increased government spending will redistribute income mostly toward better-paid labor: scientists, technicians, computer programmers.  It will reduce whatever unemployment exists among the better‑paid labor.  It will tend to be inflationary since the $50 million paid out for goods and services will go to households without producing output that households could purchase.  (This is always true of defense spending: the military does not produce for sale or have things produced for sale.  But defense spending does create incomes, which are spent.)

e.
The levying of a tax on air polluters.


This will be an increase in net taxes paid by business (11).  Since business will regard this as an increase in costs, it will decrease its demand for resources (2), leading to a decreased flow of income to the resource markets (1).  With less money income, households will decrease their consumption demand for goods and services from businesses (4) and business receipts (3) will be less.  Also, the decrease in household income will lead to a decrease in net household taxes paid to government (12).


The distribution of income will be slightly away from profits and therefore toward the other three categories.  To the extent that total tax revenues increase (11) ‑ (12), there will be a slight increase in allocation of resources to government away from private enterprise.  There will also likely be a reallocation of resources towards pollution control equipment.  The increased costs to business, having caused decrease in supply, will tend to increase unemployment and prices.

f.
A $1 per hour increase in the minimum wage.


This will increase costs of some businesses immediately and most businesses eventually, as better paid labor demands and gets what it considers its rightful historic percentage premium over the minimum wage.  This will shift businesses’ supply curve to the left, leading to a decreased demand for resources (2) though total business costs paid to labor (1) will likely have increased.  With increased income, labor households will most likely increase consumption by more than the decrease of capitalist households (those getting at least part of their income as rents, interest, and profits).  Thus flow (4) of goods and services to households increases as does flow (3), receipts of businesses from households.


The distribution of income will be toward labor.  There will be increased wages—especially for the lowest paid workers.  There will also be a small reallocation of resources towards labor.  Unemployment may  rise for the lowest paid workers and so will prices.
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What is the most important source of revenue and the major type of expenditure at the Federal level?  At the state level?  At the local level?


At the Federal level, the most important source of revenue is the personal income tax.  The main expenditure is for income security.


At the state level the most important sources of revenue are sales, excise, and gross receipts taxes, followed by personal income taxes.  The main expenditures are for public welfare, with education running a very close second.


At the local level the most important source of revenue is, by far, property taxes.  Education is by far the most important expenditure.
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(Key Question)  Suppose Fiscalville has no tax on the first $10,000 of income, but earnings between $10,000-20,000 are taxed at 20 percent and income between $20,000 and $30,000 at 30 percent.  Any income above $30,000 is taxed at 40 percent.  If your income is $50,000, how much in taxes will you pay?  Determine your marginal and average tax rates.  Is it a progressive tax?


Total tax = $13,000; marginal tax rate = 40% average tax rate = 26%.  This is a progressive tax; the average tax rate rises as income goes up.
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(Last Word) Describe three ways to finance corporate activity.  Make a case that stocks are more risky for the financial investor than are bonds.


There are three ways to finance corporate activity: it can be done internally out of undistributed profits, or Corporations can borrow from financial institutions or issue their own stocks or bonds.


Common stock is an ownership share in a corporation that gives a holder voting rights and a share of dividends. Bonds are promissory notes where the corporation promises to pay the holder a fixed amount in the future plus annual interest on the loan.  A bondholder is not an owner, only a lender.  Stocks are usually riskier than bonds.  Bondholders have a “legally prior claim” against corporate earnings.  Stock dividends cannot be paid until all interest payments due to bondholders are paid.  Interest is guaranteed as long as the company is healthy, whereas dividend depends on profits.
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